Open Solving Championship of Serbia 2024 (Serbia, Belgrade 25.05./26.05.2024)

Final Individual Results

Rank Name Cat. Country Rating # Title
1 Ilija Serafimovié j SRB  2490.90 23 IM
2 Marko Filipovi¢ CRO 2564.95 8 GM
3  Bojan Vuckovi¢ SRB 2555.86 10 GM
4 Marjan Kovacevi¢ s SRB  2403.92 43 GM
5  Vladimir Podini¢ SRB  2451.00 31 GM
6  Dmitry Pletnev 5 FID 2315.75 72 IM
7 Miodrag Mladenovi¢ s SRB 2435.99 32 GM
8  Zivan Suduli¢ s SRB  1823.70 369 -
9 Milan Simi¢ S SRB 1992.25 226 -
10 Nikola Nikoli¢ 5 SRB 1782.42 405 -

Main Judge: Marko Klasinc Problems Selected by: Marko Klasinc

World Solving Cup 2023/2024 - Points

Date 26.05.2024
Top Ten Average Rating 2281.67

Category 8
Points
Name Country # Points LI
Rat.
Ilija Serafimovic SRB 1 16 2676.36
Marko Filipovi¢ CRO 2 13 2523.44
Bojan Vuckovi¢ SRB 3 10 2501.59
Marjan Kovacevic¢ SRB 4 8  2436.05
Vladimir Podini¢ SRB 5 6 2421.49
Dmitry Pletnev FID 6 4 2392.36
Miodrag Mladenovic SRB 7 2 2308.62
Zivan Suguli¢ SRB. 8 1 1929.95
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Problems' Difficulty

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

18 h#6 900 0.50 0 2 0 8
5 #3 770 1.15 0 3 6 1

#3 700 1.50 3 0 3 4
8 = 660 1.70 1 3 6 0
12 s#4 550 2.25 4 1 1 4
3 #2 500 2.50 5 0 4 1
17 h#3 450 2.75 4 3 0 3
11 s#3 400 3.00 4 3 0 3
9 = 340 3.30 6 3 1 0
7 + 320 3.40 2 8 0 0
10 s#2 300 3.50 7 0 2 1
14 #5 300 3.50 5 3 2 0
15 #6 270  3.65 7 1 2 0
16 h#2 200 4.00 7 3 0 0
1 #2 200 4.00 8 0 1 1
6 #3 160 4.20 7 2 0 1
2 #2 100 4.50 9 0 1 0
13 #4 100 4.50 9 0 1 0
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